
!"#$%&'()*#%+!,-,.
/--012-%3"45"+6**5%.%/7.8

9%:;<7%='#)>%

!"#$%&'(#')*#+,()-.#/0%.)(#1%+.23
*?'@66*5%A@$B%$B*%6"$*&$*5 C@#%D'E@>&

!"#4#5067#8,9.,0:;$<8=#####>?!@!5A
B)#,),&"C+D.'#3'E#C+2(.'

!"#4#!047 F#4#5067##1(.G"%&1.###>?5!!HA
4"#I&/.'"D),31##@6@0J5!4 >?6@@5A
!"#!K7"#!K**#L)MNN*#%&1.####>?5@OPA
!"#Q&*G&1+(.#1(),3"&CC##>?!K@45A
4"#*6#F#!@**#DN((&,#%.)31# >?H@6OA
!"#*H#C2),R.#,N(1#############>?H@@4A
!"#S.,3.'#/)1%.'1############>?H@!@A##
!"#T$#%.)(#1%+.23##############
5"#M&*G&1+(.#T$#M2)*G1##### >?6@!@A
5"#K0!H7"!U#F#!047#%.F#D&2( >?H@!PA
!" K#G)R.#+,1('NM(+&,#

F>&G#"$'<"$@>&EH%I>'%B"J*%K'E$%6'#:B"E*5%$B*%)*E$%*&G@&**#*5L 
5;&>16#>J*&%:><5%"@#%@&$"M*%E;E$*(%"J"@<")<*7

!<*"E*%:B*:M%$B*%:>&$*&$E%>N%$B@E%)>O%@((*5@"$*<;7
V.G&'(#),E#3.C.M(+L.#&'#*+11+,R#G)'(1#(&#(%.#:N(%&'+W.3#8,9.,#
X.M%,&2&RE#3.)2.'#E&N#GN'M%)1.3#(%+1#G'&3NM(#C'&*J
Y.C&'.#+,1()22+,R#),E#G)'(1#&C#(%+1#1E1(.*Z#G2.)1.#'.)3#(%.#+,1('NM(+&,1
(%&'&NR%2EJ##8C#E&N#%)L.#),E#[N.1(+&,1#'.R)'3+,R#+,1()22)(+&,#G2.)1.
M&,()M(#(%.#3.)2.'#E&N#GN'M%)1.3#(%+1#G'&3NM(#C'&*J
8,1()22)(+&,#\<B$#'.[N+'.#1&*.#*.M%),+M)2#1-+221J##:#[N)2+C+.3
*.M%),+M#+1#)2/)E1#'.M&**.,3.3J
]\&#,&(#)((.*G(#(&#+,1()22#(%.#+,()-.#1E1(.*#/%+2.#(%.#.,R+,.#+1#%&(J 
X%.#+,1()22)(+&,#*)E#'.[N+'.#'.*&L)2#&C#')3+)(&'#C2N+3#2+,.#(%)(#*)E#D.
%&(J
8,9.,#X.M%,&2&RE#&CC.'1#)#2+*+(.3#2+C.(+*.#/)''),(E#(&#(%.#&'+R+,)2 
GN'M%)1.'#)R)+,1(#3.C.M(1#+,#*)(.'+)21#),3#/&'-*),1%+GJ#^)''),(E 
M2)+*1#*N1(#D.#%),32.3#(%'&NR%#(%.#3.)2.'#C'&*#/%+M%#(%.#+(.*#/)1 
GN'M%)1.3J##

Please check the contents of this box immediately. 

Injen strongly recommends that this system be installed by a professional mechanic. 

MR Technology, “The World’s First Tuned air Intake System!”
Factory safe air/fuel ratio’s for Optimum performance  Patent# 7,359,795

Now equipped with “Air Fusion”     Patent pending

This intake system is equiped with the first ever Air Intake Horns  Patent pending

“At Injen Technology, we didn’t copy the step down process, we invented it!” 

Figure  1 Figure   2

Buy products from authorized and licensed manufacturers using any of our
patented processes, beware of cheap knock-offs, look for our licensing logo.

MR Technology Step down process: 
1- Calibration Method for Air Intake Tracts for Internal Combustion Engines. 

Patent# 7,359,795
2- Calibration Device for Air Intake Tracts for Internal Combustion Engines.

Published and patent pending
3- Calibration Method and Device for Air Intake Tracts having Air Fusion

Published and patent pending
4- Tuning Method and Device for intake tracts having built-in     

Air Filter Horns                                                                    patent pending 

Injen is the first and only intake manufacturer that tunes and controls air/fuel
ratios, short/long term fuel trim levels using the MR step down process, Air
Fusion and built-in air intake horns.  

https://www.carid.com/injen/
https://www.carid.com/air-intakes.html


Once you have removed the screws continue to pull
the mass air flow sensor from the sensor housing.

The air box bolt is loosened from the lower air box
as shown above.

Stock air intake cleaner and air ducts shown in this
picture.  Before getting started with the installation,
disconnect the negative battery  terminal.

Figure  3

Page 2 of Part# SP6063

Figure  12   

Once you have removed the m6 bolts, continue to
remove the intercooler cover.

Press on the plastic tab over the male compression
fitting and detach from the female fitting.

The entire crankcase vacuum hard line is now
removed. 

Press on the top plastic tab on the harness clip and
detach from the mass air flow sensor. 

Using a screwdriver, pop plastic clip from the air box
bracket and remove as shown above. 

Figure  9

Figure  6 Figure  8

Figure  5

Figure  14

Loosen and remove the two m6 bolts from the inter-
cooler cover.

Figure  4

Figure  7

Repeat step 7 to remove the male compression fit-
ting located on the crankcase port.

Loosen the clamp located over the air intake duct

Figure  10

Figure  13

Figure  11
Loosen and remove the two mass air flow sensor 
screws from the mass air sensor.



Once the bolt is removed continue to dislodge the air
box from the grommets.

The air box cleaner is now out of the engine compart-
ment.

The resonator duct is disconnected and pulled out of
the engine compartment.

The primary intake is now lowered into the engine
compartment.  The upper intake is inserted into the
three inch hose. 

Insert the stand-off provided into the stock grommet
and push down.

Once you have adjusted the step hose in place, con-
tinue to tighten the clamp.

The intake bracket is sitting flush over the stand-off as
shown above.

Figure  23

Figure  18 Figure  20

Figure  17Figure  15

Figure  24 Figure  26

Page 3 of Part# SP6063

Figure 16

Once you have dislodged all stand-offs from the
grommets, pull the air box cleaner out.

Figure  19

The air resonator duct is now removed.

Figure 22

Press the 2 1/2” end of  the step hose over the turbo
inlet. 

Figure  25

As the upper intake is inserted into the three inch
hose, the intake bracket is aligned to the vibra-mount
stud.

Figure  21
The stand-off is firmly pressed into the stock grom-

met.



Once you have aligned the intake bracket to the
stand-off, cotninue to tighten the hose clamp.

The intake is adjusted and the flange nut is tightened.

The 15mm hose is pressed over the intake vacuum
port.

The mass air flow sensor  is now ready to be inserted
into the the machined sensor adapter.

The 15”-15mm vacuum hose is now installed. 

An allen is used to tighten the two m4  screws over
the mass air flow sensor.

The harness clip is pressed in place until it snaps
together with the mass air flow sensor.

The composite clamp is aligned to the press nut over
the heat shield and a 5/16 flange bolt is used to fas-
ten the clamps in place.

Figure  33 Figure  35

Figure  30 Figure  32

Figure  38Figure  36

Page 4 of Part# SP6063

Figure  27 Figure  29

An m6 flange nut and washer is used to fasten the
intake bracket to the stand-off.

The other end of  the 15mm hose is pressed over the
crankcase vacuum port.

The 2- m4 screws are used to secure the mass air
flow sensor. 

The harness clip is now installed.

Figure  28

Figure  31

Figure  37

Figure  34



All three clamps and bolts are now installed.  The filter
clamp is removed and place around the HS clamps.

The clamps are placed around the filter neck, do not
over tighten the filter clamp at this time.

The bolt on the radiator bracket is loosened.  The
bracket is removed from the driver side top radiator. 

Align the assembled filter and heat shield over the
end of the intake.  The filter stop should be resting up
against the intake end, now tighten the filter clamp.

Congratulations! You have just completed the installation of  one of  the best air
intake systems made.Once the intake and heat shield has been properly adjust-
ed, continue to tighten all nuts, bolts and clamps.

Periodically, check the fitment of both intake systems.  Normal driving condi-
tions may loosen nuts, bolts and clamps causing intakes to shift resulting in
damage to automotive parts. 

Page 5 Part# SP603 

Figure  40

Figure  45Figure  44

Figure  41 Figure  43Figure  42

The bracket is now removed from the top radiator.

27 _G&,#M&*G2.(+&,#&C#(%.#+,1()22)(+&,Z#'.M&,,.M(#(%.#,.R)(+L.#D)((.'E#(.'*+,)2#D.C&'.#E&N#1()'(#(%.#.,R+,.J##
/7 :2+R,#(%.#.,(+'.#+,()-.#1E1(.*#C&'#(%.#D.1(#G&11+D2.#C+(J##<,M.#(%.#+,()-.#%)1#D..,#G'&G.'2E#C+((.3#M&,(+,N.
(&#(+R%(.,#)22#,N(1Z#D&2(1#),3#M2)*G1J

.7 I.'+&3+M)22EZ#'.M%.M-#(%.#)2+R,*.,(#&C#(%.#+,()-.#1E1(.*#),3#*)-.#1N'.#(%.'.#+1#G'&G.'#M2.)'),M.#)'&N,3
),3#)2&,R#(%.#2.,R(%#&C#(%.#+,()-.J##S)+2N'.#(&#C&22&/#G'&G.'#*)+,.,(),M.#G'&M.3N'.1#*)E#M)N1.
3)*)R.#(&#(%.#+,()-.#),3#/+22#L&+3#(%.#/)''),(EJ

97 $()'(#(%.#.,R+,.#),3#2+1(.,#M)'.CN22E#C&'#),E#&33#,&+1.1Z#')((2.1#),30&'#)+'#2.)-1#G'+&'#(&#()-+,R#+(#C&'#)#(.1(
3'+L.J##8C#),E#G'&D2.*1#)'+1.#R&#D)M-#),3#M%.M-#(%.#L)MNN*#2+,.1Z#%&1.1#),3#M2)*G1#(%)(#*)ED.#M)N1+,R
2.)-1#&'#')((2.1#),3#M&''.M(#(%.#G'&D2.*J

P7 Q%.M-#(%.#C+2(.'#C&'#.FM.11+L.#3+'(#DN+23#NGJ##
Q&,R')(N2)(+&,1a##b&N#%)L.#9N1(#M&*G2.(.3#(%.#+,1()22)(+&,#&C#(%.#D.1(##+,()-.#1E1(.*#1&23#&,#(%.#*)'-.(J####
B,9&E#(%.#)33.3#G&/.'#),3#G.'C&'*),M.#&C#E&N'#,./#+,()-.#1E1(.*J

Figure  39 Figure  39

The assembled clamps and heat shield is now low-
ered over the filter.




